Rule of Eleven

When Partner leads their 4™ highest card

11 - Number of card led = Number of cards, higher
than the card led in the 3 other hands.

DLR: South aAaK52 S |[W|I N | E
v A Q 4 INT | P | 3NT P
+754 —

& A J 10 2x14pts)
Lead: a7 N AaA1093
\\Y E
S

11-7=4. You can see all four cards (K, A, 10, 9).
Therefore declarer has no spades higher than a7. If
declarer plays low from dummy, let your partner win
with a7




DLR: South aK52 S |W| N
vAQ4 INT | P | 3NT
¢754 -

& A J 10 2a4pts)

AaQJ87 N AaA1093

v9763 W B v82

¢ A9 S ¢J32

& 54 (7pts) L] Q 987 (7pts)
aA64
vKJ105
¢ KQIOG6
& K 63 (12pts)

DLR: South aK92 S |W| N | E
vAQ4 INT| P | 3NT | P
+754 -

& A J 10 2x14pts)
Lead: a7 N AALO53
W - v_82
S ¢ 532

- Q 987 (7pts)

11-7=4. You can see all four cards (K, A, 10, 9).
Therefore declarer has no spades higher than a7. If
declarer plays low from dummy, let your partner
win with a7. If declarer plays A9, you can win

A 10 and then? Switch to a diamond (Dummy’s only

weak suit (¢])




DLR: South aKOo?2 S |W| N | E
vAQ4 INT| P |3NT | P
¢754 -

& A J 10 2x14pts)

AaQJ87 N AaAl1053

v9763 W B v82

¢ A9 S ¢J32

& 54 (7pts) L] Q 987 (7pts)
aA64
vKJ105
¢ KQIOG6
& K 6 3 (12pts)

DLR: South A982 S |W| N | E
vAQ INT| P | 3NT | P
Q54 -
OTOAQJ92(15pts)

Lead: a6 N aAaKJ4

W - v&842
S ¢J632

& 1087 (5pts)

11 — 6 =5. Therefore declarer has one card higher than A6

Play &K. If this wins, play #J, so the suit does not block




DLR: South A982 S |[W| N | E
vAQ INT | P [3NT | P
¢Q54 SR
-Y-AQJ92(15pts)

AaA1076 N aKJ4

v9763 W . v842

¢ K87 S ¢J632

& 54 (7pts) & 1087 (5pts)
AaQ53
vKJIO0S
¢+ A109
% K 63 13pts)

DLR: South aAJ7 S |[W| N | E
vAQ4 INT | P | 3NT | P
¢754 SR
& A J 10 2a6pts)

Lead: a4 N AaQ105

- B v832
S ¢J32

* Q 987 (5pts)




DLR: South AAT7 S |W| N
vAQ4 INT | P | 3NT
¢754 Lt
& A J 10 2a6pts)

Lead: a4 N AaQI05

W E v&832
S ¢ J32

L] Q 987 pts)

11 -4 ="7. Therefore declarer has one card higher than a4.
But the lead of a4 suggests at least one honour (aK). If
declarer plays low from dummy, play 4 10. If that wins, play
A Q so as not to block the suit. This is OK as partner should

have aK.

DLR: South AAT7 S |[W| N | E
vAQ4 INT| P |3NT | P
+754 -

& A J 10 2a6pts)

AaK9642 N AQ105

v976 W - vg832

¢ A9 S ¢J32

& 54 (7pts) - Q9 87 (5pts)
Ag3
vKJ105
¢+ KQI106

& K 6 3 (12pt5)




